| TooL

[|" 009

008l

004 |

3|8 o
Slsle al o~
(S| 8 oo
sl Y
= + L
2|28 g o
2R LS
=|=|% |2 ©;
o | e Ll
wB|E=L
=y
(3Lv9 NIV HLIM) ¥ 5
&
NOILVAI14 JdISNI sl |z
O 7] ﬂ
J0N34 3AISNI JA0HLO3TI ONIHLINVA JON34 3AISNI 3A0HLO3TI ONIHLNYA olz|a = | w ~
OL J3L133INNOJ ANV LSOd 31O OL @3LOINNOJ GNV 1SOd 3Lv9 =2 & = |d= 2|3
OL d3a1IM ¥vd 'SWO MHL 9 X G¢ 0L Q3ATIM ¥vVE SO MHL 9 X GZ m b S NI
= |x S 2| | -
z |2 ,
(1 3L0N 33S) S| NN
. = 7 M S| 2 ‘
oS = —_— x|o @
00§ 3
117 ||A . &
_lq_ql_ o | 0St _|%|_ & 2|3 m
H —— =] [ o i
) ! < | AR !
o [l AN | L ° Ly |
o i JAN
m |
150d G 1s0d £
M ALVIAINYALNI 1NY1S \ ~——I1NY1S ALVITINYILNI M ° _
=3 =
= | - 8 Ll
m | o o
SIUM 3NN HSAN YNIT NIVHO S W
M J9VATIS 40 "SON € — M « g
|
_ % ~——150d 3L¥9 NIVA _ sl
_.1 . 215 Ll
T HSAW YN z_<_._ol_ @ &)
40 3903 doL slsg m
_ (LOVMINOD NI Q314103dS 38 0L 37ZIS) _ ol o
! XYW 000¢ 008+ ONIQ33OX3 LON ONINIdO 3LVO NIVN XYW 000€ '1S0d 1XIN OL -
XYW 000 8| <
8 =
] |
. =
<C
I
O

bmp'g—10¥090aSM : “JoY PRD




(3Lv9 3AIS HLIM)

NOILVAI13 JAISNI

3ON34 3JAISNI 300410313
ONIHIYVI OL d3LI3NNOD
ANV 1SOd 3Lvd OL a3aTam
dve 'SWO MHL 9 x GZ

JON34 3AISNI 3A0YLOT T3
ONIHLIYVI 0L Q31O3INNOJ
ONV 1SOd 31vO OL d3q1am
dve ‘SN MHL 9 X GZ

CSwp

DRAWING NO.
WSD 6.4B
(SHEET 2 OF 8)

X % =F

Water Supplies Department

G.C. LEE
: 50

AD/NW
9/6/92

A
g

APPROVED

SCALE

DATE

2500 mm

S
s S 2 oog
[ 5 M s \ M3 G
0S [ _I._._l_ HE i [ 1
osr_ f_1 T BN RN i
g —— g T T 1 g ' = I
R I N/ B - S Ipl S | ! IR Ly
_//_ | | _\\_ e ___r_ MC. | | _.__ _\\_ |
- ”_lo 7/,
// \\ 150d / 150
~——1NYLS | JLVIAINYALNI ~——1NY1S J1IVIAIWALNI
\ SFAIM S
AN FOVAT3S
“ 10 'SON & — HS3IN MNIT NIVHO
%N —~——1S0d 9NINIVYLS ! ———1S0d 31v9 3dIS
1 - tl ti
HS3IW MNIM z_<_._o|_ _ g _
40 3903 dOL
1S0d 31¥9 ¥0 XYW 00069 ININ3dO XYW 000€ 7150d LXIN OL
1S0d ONINIVYLS LX3N 1v9 0v6

OL "XV 00069

2000

: 50 SCALE BAR

1500

1000
1

500

0

CHAIN LINK FENCE — TYPE |l

bmp°8—~20¥090aSM



: WSD060403—B.dwg

Cad Ref.

#110 x 6 THK. M.S.

PLATE WELDED TO POST
WELD o 3 NOS. OF 83.55 G.M.S.
I Nc| B SELVAGE LINE WIRES _I _
BT 2l
81 [ =
M8 M.S. BOLTS TO BE {<E |x§;
WELDED TO G.l. PIPE AND 9
NUTS WITH WASHERS ¥
_1 =
25 x 6 THK. G.M.S. CLAMP PLATE <
| FIXED TO PIPE WITH M8 M.S. BOLTS
#80 G.. PIPE § AND NUTS WITH WASHERS
—1 gl 3 SRS 1
| L - $3.55 x 50 G.M.S. A ix§>f
1890 LONG G.M.S. CHAIN LINK” MESH
CLAMP PLATE 0
< 80 G.l. PIPE
o
[~ f S
CHAIN LINK MESH
[Te]
o
6L —t Aﬁgg &
\V/ e i 3
" o 1]
4 3 I =
CONCRETE FOOTING | | ~
4 i
[T 8 /
‘1[ 6 THK. M.S. PLATE—" 120 -
300 S0, WELDED TO POST M
SECTION QUTSIDE ELEVATION
INTERMEDIATE POST

0 5C|]O

1 : 20 SCALE BAR

10|00 mm

CHAIN LINK FENCE — TYPE |l

X % E
Water Supplies Department
G.C. LEE
APPROVED DRAWING NO.
AD/NW
- o/6/92 WSD 6.4B

SCALE 1:20

(SHEET 3 OF 8)

CcSwp




: WSD060404—-B.dwg

Cad Ref.

— 8130 x 6 THK. M.S. PLATE
WELDED TO POST

WELD 3 3 NOS. OF 83.55 G.M.S.
_\ S - | FSELVAGE LINE WIRES

$3.95 x 50 G.M.S.
CHAIN LINK MESH

25 x 6 THK. G.M.S. CLAMP

0
|75|
|

|
I_l
|

1100,

[

M8 M.S. BOLTS
TO BE WELDED

T0 G.l. PIPE AND WELD
PLATE FIXED TO PIPE WITH
NUTS WITH _\ M8 M.S. BOLTS AND NUTS
WASHERS _t s WITH WASHERS
[Tel
$100 G.. PIPE g
/
srgl 8 + —
| - Jor
1890 LONG G.M.S:
CLAMP PLATE 8 2 \
_1 8
I S ¢80 G.. PIPE
STRUT WELDED
CHAIN LINK MESH - 0 POST \
g $100 G..—=
PIPE &
G.L 1 G.L X
\vi e | \VARE. b 3,2
O - 3 100\ \\ \ g
= o|  ARPROXAN '\
| . I e e
Q
< 3 ,8 | ! | / \\@/36
¢ g Jt
(FlgglﬁﬁgrE—» < 6 THK. M.S. PLATE CONCRETE
R l__ﬂ\_ WELDED TO STRUT FOOTING
i & /
500 SQ | 15%0 | 390 | 450 SQ |
: 6 THK. M.S. PLATE [ | —
WELDED TO POST
SECTION OUTSIDE ELEVATION
STRAINING POST AND STRUTS

0 5(|)0 10|00 mm

1 : 20 SCALE BAR

X % E
Water Supplies Department

CHAIN LINK FENCE — TYPE |l

APPROVED ,(A\;b(;NI\;IEE DRAWING NO. | cswp |
DATE 9/6/92 WSD 6.4B
SCALE . 20 (SHEET 4 OF 8)




: WSD060405—B.dwg

Cad Ref.

$180 x 6 THK. M.S.
PLATE WELDED TO POST

3 NOS. OF 83.55 G.M.S. —

CONCRETE FOOTING —=

© L

w
(SEE NOTE 12)

SECTION

[100|
1

WELD S
i _ SELVAGE LINE WIRES —
- gl
A MRS =
93.55 x 50 GM.S: 3 |1
M8 M.S. BOLTS TO BE CHAIN LINK™ MESH
WELDED TO G.I. PIPE & 25 x 6 THK. G.M.S. CLAMP PLATE 1
AND NUTS WITH WASHERS N FIXED TO PIPE WITH M8 M.S. BOLTS WD
AND NUTS WITH WASHERS b
L @ S —- 6
$150 G.. PIPE Q
g8l 2 1
1890 LONG GM.S.
CLAMP PLATE o o
~ M
| o
— PIPE STRUT 8
WELDED TO
CHAIN LINK MESH . / POST
< $150 G.. PIPE—| J
| 2
v _ A
TR A 7
= 7 FILLET WELD— | 3
4 / (B | N\ " (B
25 x 6 THK. GMS——o= = = 3 2 O F=FE - | &
BAR CONNECTED T0 < ° %
EARTHING ELECTRODE [ S |

\\6 THK. M.S. PLATE

WELDED TO STRUT

|\r;—25 x 6 THK. G.M.S.
BAR CONNECTED TO

EARTHING ELECTRODE

OUTSIDE ELEVATION

6 THK. M.S. PLATE
WELDED TO POST

MAIN GATE POST

(DETAILS OF GATE POST ON OTHER SIDE SIMILAR BUT RIGHT HANDED)

5('.I)O

1OIDO mm

1:

20 SCALE BAR

CHAIN LINK FENCE — TYPE |l

kX B E
Water Supplies Department
apPROVED | GC: LEE DRAWING NO. EQ
o WSD 6.4B
DATE 9/6/92 :

SCALE 1:20

(SHEET 5 OF 8)




: WSD060406—B.dwg

Cad Ref.

8130 x 6 THK. M.S:
PLATE WELDED TO POST

WELD =) 3 NOS. OF 83.55 G.M.S.
-\ S M B SELVAGE LINE WIRES =
B 8l
Ry $3.55 x 50 GMS. ]
M8 M.S. BOLTS TO BE CHAIN  LINK MESH <
WELDED TO G.l. PIPE 8 25 x 6 THK. G.M.S. CLAMP PLATE
AND NUTS WITH WASHERS FIXED TO PIPE WITH M8 M.S. BOLTS
AND NUTS WITH WASHERS /—WELD
o
#100 G.l. PIPE g /f
et gl & } L
1890 LONG G.M.S.
CLAMP PLATE 0 o
< 5
I I -
— PIPE STRUT =
WELDED TO
CHAIN LINK MESH - POST
< 9100 G.l. PIPE—~] j
| |
G.L. _ >2§§
\Vi S_L ﬁ 37
IR o S
S/ FILLET WELD—| | | S
) / /BN | /B
25 x 6 THK. G.M.S——oF =] 3 Zh _/ o= :::,1 1 /
BAR CONNECTED TO o )
EARTHING ELECTRODE ; a =3 | k
< 6 THK. M.S. PLATE | | | 25 x 6 THK. G.M.S.
CONCRETE FOOTING - WELDED TO STRUT BAR CONNECTED TO
A ] L\ EARTHING ELECTRODE
=1 S
o
= 150 \—6 THK. M.S. PLATE
300 SQ. 2 WELDED TO POST
SECTION QUTSIDE ELEVATION
SIDE GATE POST
(DETAILS OF GATE POST ON OTHER SIDE SIMILAR BUT RIGHT HANDED)
(I) . . . . 5(|)0 . .1O|OO mm
1:20 SCALIE BII\R I I I
X # =
Water Supplies Department
CHAIN LINK FENCE — TYPE I —
APPROVED ;\;b(;Nl\;IEE DRAWING NO.
- o/5/92 WSD 6.4B

SCALE 1:20

(SHEET 6 OF 8)




: WSD060407—-B.dwg

Cad Ref.

#80 G.l. PIPE STRUT —

$100 OR 8150 G.l. PIPE

LINE WIRE

CHAIN LINK MESH

25 x 6 THK. G.M.S.
CLAMP PLATE

M8 M.S. BOLTS TO BE WELDED TO
G.I. PIPE AND NUTS WITH WASHERS

SECTION A — A

25 x 6 G.M.S. BAR CONNECTED TO
EARTHING ELECTRODE INSIDE FENCE

CONCRETE FOOTING

0 5|O 1 (I)O 1 5|O 2(I)O 21?0

1 :5 SCALE BAR

FILLET WELD

SECTION B — B

mm

CHAIN LINK FENCE — TYPE |l

kX B E
Water Supplies Department

G.C. LEE
APPROVED A0/NW DRAWING NO.
DATE 9/6/92 WSD 6‘48

(SHEET 7 OF 8)

CcSwp

SCALE 1:5




: WSD060408—-B.dwg

Cad Ref.

g_

|- 9355 x 50 GM.S.

CHAIN LINK MESH

#80 G.I. PIPE STRUTS

LINE WIRE

|
:<—¢3.55 G.M.S. SELVAGE
|

- - - _—— - j_ 25 x 6 THK. G.M.S.
CLAMP PLATE

WELD

$100 G.l. PIPE— M8 M.S. BOLTS TO BE WELDED TO
G.l. PIPE AND NUTS WITH WASHERS

DETAILS OF STRAINING POST AT CORNER

NOTES :
1. ALL DIMENSIONS ARE IN MILLIMETRES.

2. UNLESS OTHERWISE SHOWN, MATERIALS FOR THE ERECTION OF CHAIN LINK FENCE SHALL BE IN ACCORDANCE
WITH BS 1722 : PART 10.

3. STRAINING POSTS SHALL BE PROVIDED AT ALL ENDS AND CORNERS OF FENCE, AT CHANGES IN DIRECTION OR
ACUTE CHANGES IN LEVEL, AND AT INTERVALS NOT EXCEEDING 69m IN STRAIGHT LENGTHS OF FENCE. THE ANGLE

AT ANY CHANGE OF DIRECTION IN THE FENCE SHALL, WHEREVER POSSIBLE, BE NOT LESS THAN 130" TO AVOID
PROVIDING FACILITIES FOR CLIMBING.

STRUTS SHALL BE FITTED TO ALL STRAINING POSTS IN THE DIRECTION OF THE LINE OF FENCE.
CONCRETE FOR FOOTINGS SHALL BE GRADE 20/20S.
ALL CONNECTIONS OF POSTS AND STRUTS SHALL BE WELDED CONSTRUCTIONS.

A A

OTHER THAN GALVANIZED MILD STEEL, STEELWORKS SHALL BE PAINTED WITH 2 COATS OF ZINC CHROMATE PRIMER
AND 2 COATS OF FINISHING PAINT.

8. ONE NUMBER EARTHING ELECTRODE AS SHOWN ON DRAWING NO. WSD 6.7 SHALL BE INSTALLED FOR EVERY 40m OF
CHAIN LINK FENCE. THE EXACT LOCATIONS SHALL BE DETERMINED BY THE ENGINEER.

9. A 25 x 6 THK. G.M.S. CONNECTING BAR SHALL BE LAID AT A DEPTH NOT EXCEEDING 500mm BETWEEN THE CHAIN
LINK FENCE AND THE ELECTRODE UP TO A MAXIMUM DISTANCE OF 5m.

10. FOR DETAILS OF GATES REFER TO DRAWING NOS. WSD 6.5 AND 6.6.
11.  ALL WELDS SHALL BE 6mm FILLET WELD.

12.  DIMENSIONS OF W ARE AS FOLLOWS :

W MAIN GATE OPENING SIZE
500 SQ. MIN. [ UP TO 4000

600 SQ. MIN. | EXCEEDING 4000 BUT NOT
EXCEEDING 4800

0 50 1(I)O 15|>O 2C|]O 2EI>O mm

1 : 5 SCALE BAR

X % E
Water Supplies Department

CHAIN LINK FENCE - TYPE II

APPROVED ;\;b(;Nl\;IEE DRAWING NO. | cswp |
DATE 9/6/92 WSD 6.4B
SCALE 1:5 (SHEET 8 OF 8)






